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Cfe AH Maths Mini Prelim

Practice Paper 1

6 ~3) io-1
= Q0= and R= P~20.
d (1 -5) ¢ (‘2 -3) :

Find R~'. the inverse of R. 3

Use Gaussian elimination to solve the system of equations

2e— v+ 10z=-
x— 3v+ dz=12

S5x ~ 18y + 26z =-6. 5
e 1 . oox=1 _y4l z-1 ..
(a) I'he line / has equalion —— ==~ : =5 T'his line meets the plane 7
with equalion 2x—y—4z =9 at the point 7.
Find the coordinates of T 4
(") Find the size of the angle between the line / and the plane 7. 4
(c) A second plane a is paralle! to the plane 7 and the line / meets the plane &
at the poiitt R{-5. -9. 5.
Find the equation of the plane &. 3
(cr) Find the general solution of the first order linear differential equation
o . T
cosy ‘d‘— 1 (sinxly = 2cos? asiny -1, 0<x< '—, 8
AY 2
(b) Find the particular solution corresponding to the condition that y - 32
when x=2 2
. . S 3 ! I L
Prove by induction that Y - — =————— forall posilive integers . 5
S@r—tHdre2) 2 3n+2
N 3
State the value of the limitas 7 — o of Z—————————— |

rel (3(‘— 'X3f‘+2)'

Express the integer 271 in base 6.



11 -1 4 1 =2

@ (@ Given A={-1 0 2 |and B=|-1 0 1 | find 4B.

12 —1 21 -

() Hence solve the system of equations

4x+y-2z=1
-  +z=-2
2c+y-z =5,

Let z=cos@ +isind

{a) Use de Moivre's theorem to express => in terms of 36

(0 Use the binomial theorem to express 23 in terms of sin & and cos 8.

(¢) Hence express

(1 cos 34 1n terms ol cos &
(11) sin 3@ 1n terms of sin 6.
() Use vour answers (o (¢){(1) and (c){11) to show that
2
| -3tan*~@
cot3f =

3tané - 1an3g@
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(b) ) (S C_\g + MRy s ARSI/ O¢ e

dy + X g = ZasXxsmX - 4
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